OO0 IIBOO No. 1

100 1000
ooooo oo

1 ODOOoOoodd
1.1 00000 ABC

00 1 (1pt) 00000000,

00 2 (1pt) R*"0000000000.

00 3 (1pt) 0DO00O0O0O0O0DOO0OO.

00 4(1pt) Dze XD e000000.00000000.

00 5 (1pt) 0000 (X,d)000 2,0 200000000000000.

00 z,0 (0000000002,0000000,000 {2,}22,00 {gn}eex0000000
00),s0000000,0000004,—2000.000000000000000000.

00 6 (1pt) 0000 (X,d)000 2,000000000000000000.

00 7 (1pt) 0000 (X,d)000000000000000000.

00 8 (1pt) 00000000 D0000000D0000000 (RODOOO?).

00 9 (1pt) 0000 (X,dx), (Y,dy) 00,0000 X xYOOOOOOOOOO. 00000

gboo.oboooboooboo.

1.2 QJgOOooood

00 10 (1pt) 0OO0OUOOOO0OOOOO. 0DOOOOOO.
00 11 (1pt) OOOOOOOOOOOOUOOOOOOOOO.OOOOO.

00 12 (1pt) OOOO0OO0OOOOOOOUOOOOOO. DO0O0OOODOOOOOOOOO.

1.3 00od0oooooad
00 1.1 (X,dy), (Y,dy)O0OOOOOOO.

e 00 f: X -YOOOUOO (sequentially continuous) 00,00 z, — 2 000,000
f(zn) — f(x)00O00OOOO.

e 00 f: X - YDOOD (continuous) 10,00 U cYD YODOOOOOO,00 f~4(U)c X
0000 XO00O00000O00000.



ooooooo,im0O0oooooon,

lim z, =z = lim f(2,) = f(z)(= f( lim z,))

n—oo n—oo n—oo

oooo0. 0000 f0 lim000000OQCO00ODOOO,00000000. 0020000000
gboboobOoboooobobooobooboobo.obooooobooooboobooooooDo.

00 13 (2pt) OOOOOOOOOOOOOOOOOOOO.

00 14 (1pt) 00 f: X -Y0O0OOO0O0OO0O0OO0O,00000000000000.
O000e>002eX0000,0046>000000 f(Ux(x,68)) C Uy(f(x),e).

goboooooooooooobooooobo,b0boboo0obooooooobooob.oooooooooon.

00 15 (Ipt) (X xY,d)00000000000000. f: XXxY - X0 f(z,y)=20000
0,0000000000.

00 16 (1pt) f: X - YOOOOO,00C>00000,0000 z,y€ XO0000 dy(f(z), f(y)) <
Cdx(z,y) 00000000, f000000000D0D0.

00 17 (1pt) R" 0000000000000 0O0O0O0O0O0O0. 00000000 f:R*—>R™O
goooboooogon.

00 18 (2pt) (X, | |lx), (V;|-|y)00000000,7T: X -YOO0OOOO0000O. 00000
ooooooo.

() TOOOOOO.

() TOOOOOD. 000000 C>000000,00002eX0000 ||Ta|ly <Cllz|x
oooo.

00 19 (1pt) R2OODROODOOOODDODODOOO.
00 20 (1pt) /:R—ROOO0OO0O0O,0000000000.

1 for z € Q,

Jw= 0 forz¢Q.

Osinz00 eS0000000000O0O0DODO,ROOROOCOOOOOOOOOODOOOOOOO
obooobO.0o0oobooooboboooooobooooobooD.

00 21 (1pt) f/:R—-ROODO0D0O0D0,2eQO0000,2z¢QO00000000000.

1/q forx=p/q,

fz) =
0 for z ¢ Q.

000 p/q0O0000 ¢ > 0.
00 22 (1pt) f:R2 - ROO000000,00000000000000.

S it (z,y) # (0,0),
0 if (z,y) # (0,0).

flz,y) =



00 23 (1pt) f: R\{0} RO f(z)=sinz/z0000. f0)000000000RO000O0O
ooooao.

gboboobooboo,0oo0booooboooobobooooboooob. cobooboooaon
0o00dddOoooooOo,00dz#00000000,x=0000000000000C0QQCO
goooobooooboobooo.oooboobooooobob.booooboooboDoboooDbooo
gooo.

00 24 (1pt) f:R\{0} > RO f(z)=1/z0000.
(1) fOR\{0}0O0D0D0000O0OODO.

(2) f(O)ODDO0OUDO0O0DDO0OUD z=00000000000000.

1.4 00,00,000

gboaboaoooobgob.gbooobbobooboa.

00 1.8 (X,d)0U0O0O0O0O,AD0 XOOOOOOOO.

e lxe XD AUUODDOUUOOD,xz€A00,00e>00U(x,e)cAODDODOOOOO
goooog.

e lzeXD AOOOOOOOO,00a,€AD0a,—200000000000D0DOOO.

e lzeXD ADDOODOODUDOD,00 a,€ A\{2}0a,—-2000000000000
goo.

e 10 A00,000O0O0OOOOO,0x0 AQ0D0DODODODOO.

00 25 (Ipt) D 2e X0 ACXO0O0OO0OO0O00,000e>00000,U(z,e)NA£000
0D0O00000000000000.

00 A0DDDODOOOO A°, 000000 A00DO. 0000 ADDDO,A000000.

00 26 (1pt) R2O0OD0D0D0O0D00000ODOODOOOOOOODODO. 00 ADDDOOOOOO,
gooo,oo0,000,00b0000000.

A={(z,y) |2 +y* > 1}U{(1/n,1/n) | n € N}

00 27 (1pt) R2O0OD0D0O0O0O000O0OOODOOOOOOOOOO. OO0 ADDOOOOOOO,
oooo,00,0000000000.

A = {(z,sin(z)) | z € (0,7)}.

00 28 (1pt) ROOOD, 0000 A0 4°,4, 0000000000. (1) A= {0} (z € R).
(2) A=(0,1). 3) A=Q. (4) A=R\ Q.

00 29 (1pt) R2 0000, 0000 AD A°A4, 0000000000, (1) A = {(z0,50)}
((z0,90) € R?). (2) A=(0,1) x [0,1). 3) A=Q x Q.

gbobooboboooobooboooobooobooo.

00 30 (1pt) 0000 (X1,dy), (Xo,do) 0000, (X, x X,,d) D0000000O00. 00O
O0A CX,ACX,0000,4;, xA=A xA,0000000000.



1.5 00d,000d

O0000000000000,0000,000000000. 00020 (exterior), 00 (boundary)
oooooo.

o0 19 (X,d)ooo0o0o,AcXO000ooooog.

e AD0DD extAOODOODOOO.
ext A =X\ A

ext ADDDODODODODO AOOOOOO.

e A0 OAOOOOODODO.
OA =4\ A°.

oAODOOOOODO AoDoooooOO.

000000000000000000.00DO0000 D:={(z,y) eR?|224+¢42<1}000.
00 31 (1pt) 0000 R20000,000D0O000.DOOO,00,00,0000000.

00 32 (1pt) 0000 R20000,0000 A=D\{(1,0)}0000. ADOO,00,00,
ooooooo.

00 33 (1pt) 0000 R20000,0000 A=D\{(0,0)}0000. ADOO,00,00,
ooooooo.

00 34 (1pt) 0000 R?20000,0000 A=DN(QxQ)0000.A000,00,00,
ooooooo.

00 35 (1pt) 0000 R20000,0000 A=R20000. A0DOO,00,00,0000
ooo.

00 36 (1pt) (X,d)00O0O0O0,ACcX0O00O0O0O0OO0OO.0zeXOO0OO,0000000
ooooo.

(1) 20 ADDODODDOOO.

(2) 2€ ADDDODOD,00 r>000000, B(z,r)NA={z}.

00 37 (1pt) ROOOO, A:={l/n|neN}0000. ADODDDOOOOOOOOD.

00 38 (1pt) ROOOO, A:={0}U{l/n|neN}0000. ADDDDODODDOOOOOO.
00 39 (1pt) ROOOO, A:=Qn(0,1)0000. ADDDOOOODOOOOO.

00 40 (1pt) R?0000, A:=={(z,y) eR?* |22 +y* <1} 0000. ADDDOOOOOOOO
ooo.

00 41 (1pt) R20000, A:= {(z,tan(z)) e R2 |0 < |z| < 7/2} 0000. ADDDOOOODO
oooooo.

00 42 (1pt) ROOUOO,A:=Z0000. ADODOOOOOOOOOOOOOOO.



